Class - 6 Ch - 6 Exercise - 6.4

Question T.
1 2 3 4 5 6

Show the fractions6°6°6°6° 6’6 and 6 6 on the number
line. Replace "....." by an appropriate sign” between
given fractions:
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(1) 6" 6 (ii) 6
i i 0
(iif) 6 " 6 (iv) 6 "™ 6
Solution:

Number line:

— — — —— _—

6 6 6 6 6 6 3
(i) E "B L)
£ i < E E > .é.
(iii) g K (iv) Al



Question 2.
Compare the given fractions and replace ‘..." by an
appropriate sign”
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Solution:
D
s e

| As these are like fractions with denominator

6]

Since3 <5

(n) =S

[Smcc these are unlike fractions with same
numerator 2]

Since 5§ <7

2 2]
7<%

(iii) % < %

[As these are like fractions with denominator



: i)i
M37>3

[As these are unlike fractions with 4 as
numerator

Since 7<9

4 i]
779



Question 3.
Replace '..... by an appropriate sign ‘<, = or >" between
the given fractions:

. 2 -t B
(I) -3 (i) i
73 S 3 2
(m) r (iv) 2" 8
Solution:
’ . 1 ]
As in denominator 2 < §, ... 3 > 3
2 3 1.1
22272
Y L —y . )
4 2 6 2
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(iii) 9 > 9 [** As in Numerator 3 < 7]
o 3 s 2
M 373
2 1
[As 32 and in numerator 3 > |



Question 4.

Write the shaded portions as fractions. Arrange them
in ascending order using appropriate sign between
fractions:

(i) fdef

Solution:

1
8
_=_
L
8 4 3 S
9 9 9 9
In ascending order, these are
J 4 6 8 L. .
9'9' 9’9 g =937



Question 5.
Compare the following pairs of fractions:

5 4 5
(:) — and 3 (h) and 9
Solution:

s 4

(i) 9 an 3

LCMof9and 5 =9 x 5=45
Write given fraction as like fraction

2 5x5 25
Now, 5 = 9xs ~ 45

4 4x9_'§

gﬁ5x9 45
25 36

Here, 45 < 35

. Bl
"9 75

(u) o and ry

LCMofl6and 9 =
Write given fractions as like fractions



o) Ox9

Now, — =

16 16x9
5 5x16 80

9 7 9x16 144

81 30

Here, 144
9 }z
16 9
Question 6.

81

44

Fill in the boxes by the symbol < or > to make the

given statements true:

5 3
AT

ns 32
(if) TR

13 IS
(iv) " 43

"w S .3
(i) 75 <73

E , D
(iv) a8



Question 7.
Arrange the given fractions in descending order:

5 4 7 7 11 37
D179 12 () 127 36 72
Solution:

S 4 7
i) 177 9" 12

The LCM of 17,9 and 12
=3x3Ix|7Tx4=612
Make above fractions as like fractions

5 5x36 EQ_
17 = 17x<36 612

i 4:63 272
= 9x68 612

7 Tx51 E
12 = 12x51 612

357 272 180
Here, =15 > 612 ~ 612

Hence, in descending order, these are

7 4 5

—}— —

12 9 17



7 11 37
12’ 367 72
The LCM of 12, 36, 76
=2x2x3x3Ix2=T2
Make above fractions as like fractions

7 7x6 42

27 12x6 T2

(if)

_LI_ 11x2 _2
36  36x2 T2

1:7_ 37x1 _2
72> T2x1 12

In descending order, these are

o 8237 22
et 2" 712" 7




Question 8.
Arrange the given fractions in the ascending order:

7 155 -*,EEE
816" 6 ) 22233

LCM of 8, 16, 6 = 48
Making them in like fractions
7 Tx6 . 42

8~ 8x6 48

15 15x3 _ 45
16  16x3 48

5 _ 58 _ 40
6 — 6x8 48

In descending order, these are

Hono, = < £ 8
‘48 48 48




15 26
(i 5 4’ 22° 33

LCM of 4, 22 and 33 = 132, so making them
like fractions

3 3‘#33 99

3 T e 132

15 - 156 _ 90
22 22x6 132

26 = 26x4 _ 104
33 33x4 132
9 99 104
< <
132 132 132

Hence IS 3{-2-'?-
’22 4 33

1 753
I2436

The LCM of 12,4, 8,6 = 24
Hence, making them as like fractions

(iii) —

5 _5x2 10 1 _1x6 _ 6
12 12x2 24’4  4x6 24

Tx3 21 § 5:-:4 20

6 10 20 2]
< < —<
24 24 24 24
Hence the given fraction in ascending order

3 3 7
<— <= <=

I
T 126






